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  Class



Diagnostic Test
Choose the best answer.


1.
Evaluate a  b for a  12 and b  6.


A
2
C
18


B
6
D
72


2.
Add 
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3.
One morning, the elevator in Emilio’s apartment building was out of order. When he walked down the stairs from his apartment to the ground floor, he counted 252 steps. Emilio lives on the 14th floor. How many steps are between each floor?


A
10
C
22


B
18
D
32


4.
Which is NOT an integer?


F
11
H
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G
0
J
14


5.
Find 
[image: image7.wmf]100.



A
10
C
200


B
50
D
10,000


6.
Simplify 
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7.
Solve 25  x  18.


A
x  43
C
x  7


B
x  7
D
x  43


8.
Solve 3x  12.


F
x  36
H
x  4


G
x  4
J
x  36



9.
Ms. Guzman started a 950-mile trip with a full tank of gas. Her 12-gallon tank was almost empty after 450 miles. About how many miles per gallon does Ms. Guzman’s car get?


A
27
C
42


B
38
D
79


10.
Mandy’s school has 1300 girls. The ratio of boys to girls is 17 : 20. How many boys attend Mandy’s school?


F
1105
H
1317


G
1283
J
1529


11.
Twenty percent of what number is 32?


A
1.6
C
160


B
6.4
D
640


12.
What is the simple interest earned on $80 over 4 years at 9% interest?


F
$28.80
H
$112.90


G
$32.90
J
$348.80


13.
The old containers of laundry detergent hold 50 ounces. The new containers hold 20% more than the old containers. How many ounces do the new containers hold?


A
10
C
70


B
60
D
100


14.
It is recommended that people brush their teeth for at least 2 minutes. Which inequality represents this situation?


F
m  2
H
m ( 2


G
m ( 2
J
m ( 2


15.
Solve 3x  16 ( 34.


A
x ( 6


B
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C
x ( 6


D
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Diagnostic Test
continued

16.
Which situation matches the graph below?
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F
The medicine should be kept at a temperature greater than or equal 
to 55.


G
The medicine should be kept at a temperature less than or equal to 80.


H
The medicine should be kept at a temperature between 55 and 80 
inclusive.


J
The medicine should be kept at a temperature below 55 or above 80.


17.
Which situation could the graph below represent?
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A
In the morning, the temperature was steady. Then it dropped quickly before leveling off again.


B
The temperature rose slowly throughout the day and then fell quickly.

C
The temperature rose quickly, remained steady, and then dropped slowly.

D
The temperature rose and fell several times throughout the day.


18.
What is the domain of the relation
{(0, 2), (0, 4), (4, 2), (4, 4), (6, 2)}?


F
{0, 4}


G
{2, 4}


H
{0, 4, 6}


J
{0, 2, 4, 6}



19.
Which is the dependent variable in the following situation?
The cost of a medium pizza is $8 plus $1.25 per topping.


A
number of toppings


B
estimated time of delivery


C
cost of each topping


D
total cost of a medium pizza


20.
Which ordered pair is on the graph of 
y  4x  3?


F
(1, 4)
H
(4, 1)


G
(1, 7)
J
(7, 1)


21.
Which function is shown in the graph below?
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A
f(x)  x  3
C
f(x)  3x

B
f(x)  x  3
D
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22.
Find the common difference in the arithmetic sequence below. 


68, 61, 54, 47, 40, . . .


F
7
H
28


G
4
J
33


23.
What is the y-intercept of 6x  4y  12?


A
3
C
2


B
2
D
3


24.
Which slope is steepest?


F
8
H
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J
5

Diagnostic Test
continued

25.
Find the slope of the line that contains (5, 8) and (10, 12).


A
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C
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B
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26.
Which function has a y-intercept of 5?


F
y  5x  1
H
y  5x  1


G
5y  x  1
J
y  5  x


27.
The graphs of f(x) and g(x) are shown below. Which describes the transformation from f(x) to g(x)?
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A
translation up


B
translation down


C
rotation


D
reflection


28.
Which ordered pair is a solution of the system 
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F
(0, 2)
H
(2, 4)


G
(1, 3)
J
(5, 1)


29.
Solve the system 
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A
(2, 5)
C
(2, 1)


B
(2, 1)
D
(5, 2)


30.
Which ordered pair is a solution of 
y ( 3x  8?


F
(1, 7)
H
(4, 4)


G
(1, 5)
J
(4, 7)



31.
What is 652,000,000,000 in scientific notation?


A
6.52  109
C
6.52  1011

B
652  109
D
652  1011

32.
Simplify y6 • y2.


F
y3
H
y8

G
y4
J
y12

33.
Simplify 
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A
6
C
216


B
9
D
234


34.
Classify x3  8 according to its degree and number of terms.


F
cubic binomial


G
cubic trinomial


H
quadratic binomial


J
quadratic trinomial


35.
Multiply (d  7)(d  3).


A
d2  21
C
d2  4d  21


B
2d  21
D
d2  10d  21


36.
What is the prime factorization of 150?


F
1 • 10 • 15
H
22 • 5


G
5 • 5 • 6
J
2 • 3 • 52

37.
Which is the complete factorization of 6x4  12x2?


A
x2(6x2  12)
C
6x2(x2  2)


B
3x2(2x2  4)
D
12x2(2x2  1)


38.
The area of a square is 9x2  6x  1. Which is an equivalent expression for the area of the square?


F
(3x  1)2
H
(3x  2x  1)2

G
(3x  1)2
J
(3x  2x  1)2

39.
Which is a quadratic function?


A
y  2x  16
C
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B
y  x2  4x  3
D
y  4x

Diagnostic Test


continued

40.
How many solutions does the function graphed below have?


[image: image28.jpg]n






F
none
H
exactly 2


G
exactly 1
J
infinitely many


41.
Solve x2  196.


A
14
C
14 and 14


B
98
D
98 and 98


42.
Seniors at a local high school were recently asked, “What time do you think school should start?” According to the chart below, which time was the second-most popular choice?
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F
7:30
H
9:00


G
8:00
J
9:30


43.
Teresa weighed her kitten every week for one year. Which type of graph would be best to display the data?


A
bar
C
line


B
circle
D
stem-and-leaf


44.
How many ways can 4 people sit at a table with 6 seats?


F
15
H
120


G
24
J
360


45.
The number of room vacancies for one week at one motel is given below. 

	S
	M
	T
	W
	T
	F
	S

	12
	10
	10
	5
	4
	0
	1


What is the mean number of vacancies?


A
6
C
10


B
7
D
12


46.
The spinner is spun once. What is P(even number)?
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47.
What is the next number in the sequence? 4, 12, 36, 108, . . .


A
116
C
324


B
144
D
432


48.
A trading card increases in value by 2% each year. In 2005, it was worth $8. About how much is it worth in 2011?


F
$9.00
H
$17.60


G
$9.20
J
$20.00


49.
Simplify 
[image: image35.wmf]40

.


A
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B
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D
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50.
y varies inversely as x. x1  5, y1  4, and y2  2. Find x2.


F
10
H
20


G
18
J
40


51.
Simplify 
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A
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B
d  4
D
d  4

Answers

DIAGNOSTIC TEST

1.
C
18.
H
35.
C


2.
H
19.
D
36.
J


3.
B
20.
G
37.
C


4.
H
21.
B
38.
F


5.
A
22.
F
39.
B


6.
H
23.
A
40.
F


7.
A
24.
F
41.
C


8.
H
25.
B
42.
H


9.
B
26.
J
43.
C


10.
F
27.
C
44.
J


11.
C
28.
G
45.
A


12.
F
29.
A
46.
G


13.
B
30.
J
47.
C


14.
J
31.
C
48.
F


15.
C
32.
H
49.
B


16.
H
33.
B
50.
F


17.
A
34.
F
51.
B
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